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Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : VII - A
Full Marks : 10 Time : Thirty Minutes
Choose the correct answer.

Each question carries 2 marks.

1. Which immunoglobulin is found in maximum percentage in mucous secretions ?
(A) IgG
(B) IegM
(©) Igb
(D) IgA
> | FISHRT wF0el (@ ERNCAICIRfe F7ifs =i Atea A e
(A) IgG
(B) IgM
(©) Igb
(D) IgA
2. Pebrine disease of silkworm is caused by —
(A) Fungus
(B) Protozoa
(C) Virus
(D) Helminth
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3. Which of the following is a jute pest ?
(A) Apion corchori
(B) Sitophilus oryzae
(C) Leucinodes orbonalis

(D) Scirpophaga incertulus

© | [0 (I AT MNT"F (o002

(A) Apion corchori
(B) Sitophilus oryzae
(C) Leucinodes orbonalis

(D) Scirpophaga incertulus

4. Which one of the following is a minor carp ?
(A) Labeo rohita
(B) Labeo bata
(C) Catla catla
(D) Wallago attu

8 | Woa (@ @G WiETa Fisf?
(A) Labeo rohita
(B) Labeo bata
(C) Catla catla
(D) Wallago attu
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5. The number of runs scored by 11 players of a cricket team of are : 5, 19, 42, 11,
50, 30, 21, 0, 52, 36 and 27. Here, the median is —

(A) 27
B) 30
(C) 21
(D) 36

€| G0 fFCFD TETd 5> T CATAIG-AF g A =41 : 5, 19, 42, 11, 50, 30, 21,
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(A) 27
B) 30
(C) 21
(D) 36

6. Infection by HIV causes —

(A) Increase in the number of CD4+ cells
(B) Reduction in the number of CD4+ cells
(C) Reduction in the number of lymphocytes

(D) Reduction in the number of leucocytes

Y| HIV =R A0 Picel —
(A) CD4+ (IR AN e 21"
(B) CD4+ (IICIT AN 29 21
(C) TeIrMEna A4 o1«
(D) TerCramNZeoa <2l 2+
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7. Which among the following is an Indian indigenous breed of poultry ?
(A) Aseel
(B) White Leghorn
(C) Plymouth Rock

(D) Ancona
4| A TG @G (AFAG-9F 9T SOR @@ Y TTo 2
(A) Aseel

(B) White Leghorn
(C) Plymouth Rock
(D) Ancona

8. Which organism resides in lymph nodes ?
(A) Taenia
(B) Plasmodium
(C) Wuchereria

(D) Diplococcus

v | (I G R afgre A 2
(A) Taenia
(B) Plasmodium
(C) Wuchereria

(D) Diplococcus
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9. The infective stage of Plasmodium in man is —
(A) Schizont
(B) Sporozoite
(C) Merozoite

(D) Hypnozoite

»| YR (G ASTANGACT AT 2R 20 —
(A) S
(B) CHAICASTID
(C) CCATSCIG
(D) feeread

10. Active immunity is obtained by —
(A) Taking prepared antibodies
(B) Taking antisera
(C) Inoculation of weakened or killed germs
(D) Taking injection of gamma globulin
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Paper Code : VII - B
[New Syllabus]
Full Marks : 40 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Unit -1

1. Answer any fwo questions: 4x2=8
(a) Define Mean and Median. State the relationship among Mean, Median and Mode.
(b) What are the advantages of Prawn Culture in Brackish water?

(c) Comment on hypophysation.

(d) Write the composition and uses of honey

2. Answer any one question: 12x1=12

(a) Distinguish between monophagous and polyphagous pest. Describe the
morphology, life history, nature of damage and control measures of Scirpophaga

incertulus. 242+44+2+2=12

(b) Differentiate composite fish culture from monoculture. What do you mean by
‘Integrated fish farming’? Write in detail about common fish diseases.

2+3+7=12

(c) Write about the symptoms of different diseases of Poultry, their causes, prevention

and control. Describe the life stages of lac insect. 8+4=12
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Unit - 2

3. Answer any two questions: 4x2=8
(a) Write in brief the parasitic adaptation of Fasciola.
(b) Describe the role of mosquitoes in the transmission of different diseases.
(c) Differentiate between innate and adaptive immunity.
(d) Draw and describe the general structure of HIV.
4. Answer any one question: 12x1=12

(a) Describe the life cycle of Ascaris lumbricoides with suitable diagram. Comment on

its pathogenicity and treatment. 8+4=12
(b) Write short notes on: 3x4=12
(1) Humoral and Cell mediated immunity

(i)  Antigen-antibody reaction
(iii)  Tobacco Mosaic Virus
(iv)  Role of ticks in disease transmission

(c) Differentiate between active immunization and passive immunization. Explain in
detail the different types of vaccines with examples. 4+8=12
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(1) Humoral immunity @<R Cell mediated immunity
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